A EB . GRS - NIRAE - BES ofl &t i HIDEZ
=ERsSH 68,261,327 53,465,899 14,795,428
= 8,893,632
4,211,444
= 55,156,251
dak, 7S - 0AE Zet 68,230,263 53,430,898 14,799,365
= 8,893,632
4,211,444
= 55,125,187
ol AH DB 18,626,916 11,559,865 7,067,051
= 3,404,582
2,942,444
S 12,279,890
A0S EH ML 663,095 617,300 45,795
202 04| 2,300 2,300 0
01 =LHAbI 2,300 2,300 0
OAIZ20l & oS+ LR=T 2,300
403 AXIEHSA=Z01H 660,79% 615,000 45,795
01 AXISHHA=2EE 660,795 615,000 45,7%
Odldot2A Silat 480,675
OAIE30l 28Hd 135,000
Odll=stt= 45t | XN& 45,120
ooy g2dat 864,875 645,300 219,575
308 XXM SOIE 163,000 310,750 147,750
01 AXHH B EES 163,000 310,750 147,750
Ozt HFMa & olTe & 163,000
403 X SMEXH=01H 701,875 334,550 367,325
01 XM= 2L 701,875 334,550 367,325
Otz HFa & olde &5 701,875
AF I WL 1,002,300 802,300 200,000
202 O 2,300 2,300 0
01 =LHAbI 2,300 2,300 0
O L PR 2,300
307 212+o1 1,000,000 800,000 200,000
02 2B AANHE X 1,000,000 800,000 200,000
OMa2F =std s =4XIE 1,000,000
OHXITHA QA 746,000 746,000 0
308 XXM S0IH 656,000 656,000
01 AXHHBEELS 656,000 656,000
O deHj=2te SRMAAE AIS Y 80,000
OLAXITHA HE At 576,000
403 MXIEHSAH201H 90,000 90,000
01 X HHKZE X 90,000 90,000




A= =33 SN SNERSD
3 st 4o, RS - 0BIE 23
= U F e ol EEECE))
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| oDaNmA &N REIE 2= 90,000
D=t st - 2 E 868,400 763,400 105,000
202 O 2,300 2,300 0
01 20| 2,300 2,300 0
Oult=33 HRFA 2,300
403 MR EHSAHE01H 866,100 761,100 105,000
01 MXIHHAZE X 866,100 761,100 105,000
Ot BHH K 228,200
Oz ditzsS K= 165,400
OgzZ A Jlgtxy 367,500
O%t5ll HIOSE 2E dAAIE XI& 30,000
OslsIt AMEd &d 75,000
elalgtxy 242,240 240,650 1,590
202 04| 2,000 2,300 A300
01 2LHOIHI 2,000 2,300 A300
ooadgry gRxa 2,000
308 AR M S0IH 30,240 28,350 1,890
01 XM B ELS 30,240 28,350 1,890
O¢ola zletH XHuk 30,240
403 MXIEHMSHE01H 210,000 210,000
01 MHXIHHAZE X 210,000 210,000
OLFZ oy datAlg Xd 210,000
SXFHHNL 30,720 43,200 A12,480
403 MRS 201 30,720 43,200 A12,480
01 RIS A= E X 30,720 43,200 12,480
o= ANEE =S4 30,720
ANE20i St X2 (ALANSUE) (=) 709,69 980, 156 A270,457
Jl 545,922
= 163,777
403 XIS H=0lH 709,69 980, 156 A270,457
Il 545,922
& 163,777
01 AXIEHA= 25 709,699 980, 156 NZ270,457
OAIZ2 0= HSt 709,699
Il 545,922
= 163,777
AZ20 Sthat X2 (D= HIOHE THHHAIZ)(=1) 98,800 179,400 80,600
) 76,000
S 22,800
403 XX EMS =01 98,800 179,400 80,600
Il 76,000
S 22,800

- 619 -




s8= 2A  sttERsSH
Do st i 7S

=)
=
om
0y
ol

=}

1 [Py D L

ECRE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 AXISHHA=2EE 98,800 179,400 A80,600
QL= HIJHE THHHAIE 98,800
Jl 76,000
S 22,800
AN Z0F ICTE=E N (ANEH NEES)(R1) 37,308 40,030 N2, 722
Il 30,087
& 7,221
403 AXIEHMS =01 37,308 40,030 N2, 722
Il 30,087
= 7,221
01 AXIEHA=E X 37,308 40,030 N2, 722
OANIEE AEES 37,308
Jl 30,087
= 7,221
020t ICTE=E N (ANEE 244=5)(21) 260,000 0 260,000
Jl 200,000
& 60,000
403 X EMSH=0lH 260,000 0 260,000
Il 200,000
S 60,000
01 MHXIHHAZE X 260,000 0 260,000
OALNIEE 24d= 260,000
Jl 200,000
= 60,000
SY=20F O RIOIBEESHUHXIZZAEXIR) (=) 441,457 657,422 A\215,965
= 339,582
S 101,875
403 X EMSH=0lH 441,457 657,422 A\215,965
= 339,582
& 101,875
01 A= 2L 441,457 657,422 A\215,965
ONUHXNZZ AL 441,457
= 339,582
= 101,875
HAZ =S MA(HAIIE A (2R E RIR) 6,562,000 3,987,000 2,575,000
307 212+o1 6,562,000 3,987,000 2,575,000
02 2B AANHEX 6,562,000 3,987,000 2,575,000
OM It LI A 6,562,000
HesesHHTs(aXM2AL)(22) 49,722 1,143,507 A 1,008,785
Jl 41,435
& 8,287
403 XXIEHMSA=01A 49,722 1,143,507 1,003,785
Il 41,435
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A= s33 2N StERSH
MM =A2 MM, RS- OBIE 23
Chelr RA0AHIIBES (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 8,287
01 AXIHAA2EZ 49,722 1,143,507 1,093,785
(OFSYNPSEEINES 49,722
| 41,435
== 8,287
FTAAMME HIE =8 2 22d] XI&(=21) 18,000 20,000 A2,000
| 18,000
202 Ot 6,000 6,000 0
| 6,000
04 =Mt 6,000 6,000 0
OFTAAIZI A= =& & 2teldl KNI~ 6,000
| 6,000
307 2I2+01 ™ 12,000 14,000 A2,000
| 12,000
02 QIHF &AL E X 12,000 14,000 A2,000
OFTAAIZ A& =& & 2t2ldl KNI 12,000
| 12,000
SEXNZ(HA, &) MAALSUSE XA (S1) 370,500 245,700 124,800
| 285,000
== 85,500
403 XtXIHMSAH=201 A 370,500 245,700 124,800
| 285,000
& 85,500
01 AIXHAAN=2E L 370,500 245,700 124,800
OBiA, 242 THHHAIE S0ist XI& 370,500
| 285,000
& 85,500
SENZ(CIA)MAALSUSE XA(21) 514,800 448,500 66,300
| 3%,000
= 118,800
403 XX HMS K201 514,800 448,500 66,300
| 3%,000
== 118,800
01 AXHAA=2EE 514,800 448,500 66,300
O©Qlar THHHAIE SCHet XA 514,800
| 3%,000
& 118,800
sH20F fiUXoISEESHMEANUX SS0IBAI4 1,862,000 0 1,862,000
)(21)
= 1,715,000
= 147,000
403 XtXIHMS K201 1,862,000 0 1,862,000
= 1,715,000
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2 =33 SN SASRSD

I SAI2 MAL S . 0 E 235}

E;II 20D B S (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 147,000
01 AXIHAA2EE 1,862,000 0 1,862,000
ONMEAMUXI SS0ISAI4 1,862,000
= 1,715,000
o= 147,000
SENSMGXIKME (Z2D) 1,620,000 0 1,620,000
| 1,350,000
& 270,000
403 XXM S K=01& 1,620,000 0 1,620,000
| 1,350,000
& 270,000
01 XtXIEHHI A= 2 2= 1,620,000 0 1,620,000
OSEXNSAYSIXJAHEH 1,620,000
| 1,350,000
= 270,000
AN TIGHAIS EL0IMEME S X (EL0IMSHH 1,665,000 0 1,665,000
s X&) (=1)
= 1,350,000
= 315,000
308 AXIHM SOl 1,665,000 0 1,665,000
= 1,350,000
& 315,000
01 AXEHBLEES 1,665,000 0 1,665,000
OE20IMSHAM S K& 1,665,000
= 1,350,000
< 315,000
SAEREEHs & s42 FRSFARMA 11,924,585 7,762,430 4,162,155
= 4,784,000
| 1,269,000
< 5,871,585
EIZC 24 373,925 862,225 A488,300
202 04| 3,825 3,825 0
01 =K 3,825 3,825 0
OZZEE 43 HRFH 3,825
207 AR 80,000 20,000 60,000
01 H2=249H| 80,000 20,000 60,000
OIS XNAMH 48 EBEd HEEY 80,000
308 RHXIHHMSO0I A 260,100 365,400 105,300
01 AXSHHBNEERS 260, 100 365,400 A 105,300
OMAS HAHE 2ZFE N 245,700
OZZEE &43| 14,400
403 MXISHHSIHE01H 30,000 423,000 A393,000
01 RXISHMA=2E X 30,000 423,000 A393,000
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uJ
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42 =33 2N SUSRED
M 42 M 7S - 0BIE 23t
el SAESSHAS U 42 RETXNA (ol 29l)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 634,500
403 XX HMSKH=01A 1,903,500 576,000 1,327,500
| 1,269,000
o= 634,500
01 XISHHMAIZ2E X 1,903,500 576,000 1,327,500
O 428X 7 SHIE (APC) XA 1,903,500
| 1,269,000
& 634,500
gas IS 4 XJA(21) 493,000 580,000 A\87,000
= 425,000
= 68,000
403 XtXIHMS K201 A 493,000 580,000 87,000
= 425,000
= 68,000
01 XISHHAI2E X 493,000 580,000 A87,000
ogXs 2s3dM s4 N& 493,000
= 425,000
== 68,000
oA X2 (=21) 1,158,400 1,407,200 A248,800
= 594,000
& 564,400
401 Al HIL SR CHY| 300,000 0 300,000
= 90,000
= 210,000
01 Al&Hl 298,000 0 298,000
OXE X 298,000
= 89,400
= 208,600
03 Al& S CHHI 2,000 0 2,000
OXME XI& 2,000
= 600
& 1,400
403 RtXIHMS K201 A 758,400 1,407,200 648,800
= 474,000
= 284,400
01 AIXIHAMA2E X 758,400 1,407,200 648,800
O X 758,400
= 474,000
== 284,400
405 RHeHFSHI 100,000 0 100,000
= 30,000
& 70,000
01 ML EEFSHI 100,000 0 100,000
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A= s33 2N StERSH
M 42 M 7S - 0BIE 23t
Hel: SASMYEFE (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AIXIHH K22 X 81,900 0 81,900
OFEE=H0 ASI|Y 4 81,900
saESE e 98,330 87,140 11,190
201 Ler23d| 20,000 20,000 0
01 Ar22eltl 20,000 20,000 0
Osdts o8y et s - 88 10,000
O=s=E4t2 215013 g8 10,000
202 o4t 6,500 5,000 1,500
01 =WO4HI 6,500 5,000 1,500
O=AZZEHS HRFA 6,500
308 AHXIHMSOI& 71,830 62,140 9,690
01 AXIEHBAEES 71,830 62,140 9,690
O=dtE et dA 12,330
QOrHM&t Y412 BAF XI&A 15,000
OEXAL SECISHAIA 44,500
GAP OtN N 24 X2 (21) 97,565 141,050 A43,485
= 75,050
& 22,515
308 AHXISHMSOI& 97,565 141,050 AN43,485
= 75,050
& 22,515
01 XN BHEES 97,565 141,050 43,485
OGAP ot ZAM XA 97,565
= 75,050
= 22,515
GAP RMAIE B2 (=1) 52,000 150,000 98,000
= 52,000
403 XX HMSAH=01 A 52,000 150,000 98,000
= 52,000
01 IXIHH K22 X 52,000 150,000 98,000
OGAP AMAIE B2 52,000
= 52,000
TEMHIA HXSHEE alzel 2sH SLEL) (=2 75,000 25,000 50,000
1)
= 75,000
308 AHXIHMSOI& 75,000 25,000 50,000
= 75,000
01 AXEHBLEES 75,000 25,000 50,000
OFYE A ZSH U4 75,000
= 75,000
EATHE AHIEM JIBES AIY(=1) 4,000 0 4,000
= 4,000
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